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BACHELOR’S DEGREE PROGRAMME 

(BDP) 

Term-End Examination 

December, 2024 

ACC-1 : ORGANIZING CHILD CARE SERVICES 

 Time : 3 Hours    Maximum Marks : 100 

Note : (i) Answer any five questions.  

 (ii) All questions carry equal marks.  

1. (a) Match the child’s behaviour in Column 1 

with the corresponding area of 

development in Column 2 : 5 

Column 1 Column 2 

(i) Sharing of toys 
with friends  

(A) Cognitive 
development 

(ii) Running  (B) Social 
development 
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(iii) Grouping 

objects of same 
shape together 

(C) Gross motor 
development 

(iv) Telling a story (D) Fine motor 
development 

(v) Threading 
beads 

(E) Language 
development 

(b) Explain the concept of ‘critical period’ with 

one example. 5 

(c) Discuss the role of the environment in a 

child’s development. Give examples to 

support your answer. 10 

2. (a) For planning a trip for preschool children, 

what are the aspects you will consider  

(i) Before the trip, (ii) During the trip and 

(iii) After the trip ? 5×3=15 

(b) What is a ‘discovery corner’ ? How does it 

benefit children ? 5 
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3. Describe a play activity each for enhancing the 

preschoolers’ ability to : 4×5=20 

(i) match 

(ii) classify 

(iii) comparing and seriate 

(iv)  identify common relations 

4. While setting up a centre for preschool children, 

what are the factors that you will keep in mind 

when (i) organizing the indoor space and  

(ii) organizing the outdoor space ? 10+10 

5. (a) Why is evaluation of a preschool  

important ? 4 

(b) State any eight factors you will keep in 

mind while evaluating an early childhood 

care centre. 16 

6. (a) Describe any five activities/ways to foster  

the language development of preschoolers.  

10 
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(b) “Art activities keep children busy and this 
time can be used by teachers to take rest.” 

Do you agree with the statement ? Justify 
your answer. 10 

7. (a) Play fosters all round development of 

children. Describe the role of play in 
promoting :  

(i) social development 5 

(ii) creativity 5 

(b) Describe with examples any three 
environmental factors that influence the 
development of the foetus in the womb.  10 
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Lukrd mikf/ dk;ZØe (ch- Mh- ih-) 

l=kkar ijh{kk 

fnlEcj] 2024 

,- lh- lh--1 % cky ns[kHkky lsokvksa dk laxBu 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % (i) fdUgha ik ¡p iz'uksa ds mÙkj nhft,A 

 (ii) lHkh iz'uksa ds vad leku gSaA  

1- (d)  dkWye 1 esa fn, x, cPps ds O;ogkj dk 

dkWye 2 eas fn, x, fodkl ds vuq:i {ks=k ls 

feyku dhft, % 5 

dkWye 1 dkWye 2 

(i) fe=kksa ds lkFk 

f[kykSuksa dks lk>k 

djuk 

(A) laKkukRed 

fodkl 

(ii) nkSM+uk (B) lkekftd 

fodkl 
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(iii) leku vkÑfr dh 

oLrqvksa dks ,d 

lewg esa j[kuk 

(C) LFkwy 

fØ;kRed 

fodkl 

(iv) dgkuh lqukuk (D) lw{e 

fØ;kRed 

fodkl 

(v) eksrh fijksuk (E) Hkk"kk dk 

fodkl 

([k)  ^fu.kkZ;d vof/* dh vo/kj.kk dks ,d 

mnkgj.k ds lkFk le>kb,A 5 

(x)  cPpksa ds fodkl eas ifjos'k dh Hkwfedk ij 

ppkZ dhft,A vius mÙkj ds leFkZu esa mnkgj.k 

nhft,A 10 

2- (d)  'kkykiwoZ o"kZ ds cPpksa ds fy, Hkze.k dh 

;kstuk cukrs le; vki (i) Hkze.k ls igys]  

(ii) Hkze.k ds le;] ,oa (iii) Hkze.k ds ckn 

fdu&fdu igyqvksa ij fopkj djsaxs \ 5×3=15 

([k)  ^[kkst dk {ks=k* D;k gS \ blls cPps dks D;k 

iQk;nk gksrk gS \ 5 
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3- fuEufyf[kr cPpksa dh izR;sd ;ksX;rk dks c<+kus ds 

fy, ,d&,d [ksy fØ;k dk o.kZu dhft, % 4×5=20 

(i) feyku dj ikuk 
(ii) oxhZdj.k dj ikuk 
(iii) rqyuk dj ikuk ,oa Øe ls yxk ikuk 
(iv) lkekU; laca/ksa dh igpku djuk 

4- 'kkykiwoZ mez ds cPpksa ds dsUnz ds fy, (i) Hkhrjh 

LFkku dh O;oLFkk ,oa (ii) ckgjh LFkku dh O;oLFkk 

djrs le; vki fdu dkjdksa dks è;ku esa  

j[ksaxs \    10$10 

5- (d)  ,d 'kkykiwoZ f'k{kk dsUnz dk ewY;kadu djuk 

D;ksa egRoiw.kZ gS \ 4 

([k)  fdlh 'kkykiwoZ f'k{kk dsUnz dk ewY;kadu djrs 

le; viu fdu vkB ckrksa dk è;ku j[ksaxs \ 

crkb,A 16 

6- (d)  'kkykiwoZ mez ds cPpksa ds Hkk"kk;h fodkl dks 

c<+kok nsus ds fy, fdUgha ik¡p xfrfof/;ksa@ 

rjhdkssa dk o.kZu dhft,A 10 
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([k)  ¶dyk&laca/h fØ;k,¡ cPpksa dks O;Lr j[krh gSa 

vkSj bl le; dk iz;ksx f'k{kd Lo;a ds vkjke 

djus ds fy, dj ldrs gSaA¸ D;k vki bl 

dFku ls lger gSa \ vius mÙkj dks lR;kfir 

dhft,A 10 

7- (d)  [ksy ls cPpksa dk lok±xh.k fodkl gksrk gSA 

fuEufyf[kr dks c<+kok nsus ds fy,] [ksy dh 

Hkwfedk dk o.kZu dhft, % 

 (i) lkekftd fodkl 5 

 (ii) l`tukRedrk 5 

([k)  xHkkZoLFkk ds nkSjku xHkZLFk f'k'kq ds fodkl dks 

izHkkfor djus okys fdUgha rhu ikfjosf'kd 

dkjdksa dk mnkgj.k lfgr o.kZu dhft,A 10 
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